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In the diagram of [image: image1.png]


 and [image: image2.png]


 below, [image: image3.png]


, [image: image4.png]


, and [image: image5.png]


.
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Which method can be used to prove [image: image7.png]


?

	1)
	SSS

	2)
	SAS

	3)
	ASA

	4)
	HL
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As shown in the diagram below, [image: image8.png]


 bisects [image: image9.png]


 and [image: image10.png]


.

[image: image11.png]



Which method could be used to prove [image: image12.png]


?

	1)
	SSS

	2)
	AAA

	3)
	SAS

	4)
	AAS
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In the diagram below of [image: image13.png]


 and [image: image14.png]


, [image: image15.png]


 and [image: image16.png]


 intersect at E, such that [image: image17.png]AF = CE



 and [image: image18.png]


.

[image: image19.png]



Triangle DAE can be proved congruent to triangle BCE by

	1)
	ASA                         3) SSS

	2)
	SAS                          4) HL
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In the diagram below of [image: image20.png]


 and [image: image21.png]


, [image: image22.png]


, and [image: image23.png]AF = O



.

[image: image24.png]



To prove that  [image: image25.png]


 and [image: image26.png]


 are congruent by SAS, what other information is needed?

	1)
	[image: image27.png]GE= LD



                    

	2)
	[image: image28.png]AG = OL





	3)
	[image: image29.png]




	4)
	[image: image30.png]
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In the diagram of quadrilateral ABCD, [image: image31.png]AB | CT



, [image: image32.png]


, and diagonal [image: image33.png]


 is drawn.

[image: image34.png]



Which method can be used to prove [image: image35.png]


 is congruent to [image: image36.png]


?

	1)
	AAS                     3) SAS

	2)
	SSA                      4) SSS
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The diagonal [image: image37.png]


 is drawn in parallelogram ABCD.  Which method can not be used to prove that [image: image38.png]


?

	1)
	SSS

	2)
	SAS

	3)
	SSA

	4)
	ASA
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In parallelogram ABCD shown below, diagonals [image: image39.png]


 and [image: image40.png]


 intersect at E.

[image: image42.png]AC = DB




[image: image41.png]




Which statement must be true?
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